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Part .II. 3-Tier
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PAPER—II
(General)
Full Marks : 90

I‘ Time : 3 Hours

The figures in the right-hand margin indicate Sfull marks.

Car;zdidates are required to give their answers in their

\ own words as far as practicable.
|

: Answer all questions.

Group—A

1, A?sWer any ten questions of the following : - 10x2
(a) What is root pressure ?
(blj Define hydroponies.
(cII) What is R.Q?

| R
{d) Name two chemicals which are used ae anti-
transpirant.
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(e) What is macroelement? Cite two examples.
{fi What is Hili reaction?
(g) What is denitrification ?

(h) Mention two important physiological role played by
Cytokinins.

() What is a reducing sugar? Cite example.
() Define E.LA.

(k) What is nucleosome ?

() Write two properties of genetic code.

(m) What is actinostele ?

(n) Name two enzymes respbnsible for nitrogen fixation
in plants,

(0) Mention the termination codons of protein synthesis.

Group—B
2. Answer any five questions of the following : 5x8

(a) Write the adaptation of hydrophyte in respects of
morphological, anatomical and physiological charac- .
ters. 3+3+2

(b) What is secondary growth. With neat labelled sketches

discuss the secondary growth in dicat stem.
1+(2+5)
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(a)

Describe with sketches gross-structure of cell wall.
What is the function of cell wall ? 6+2

What is linkage ? Explain incomplete linkage with an
example. 2+6

Give two example of each of physical and chemical
mutagens ? State the mechanism of mutation caused

by UV ray and 5-Bromouracil. 2+3+3
(ﬂ Write notes on the following :
{i) Properties of Watson and Crick DNA model ;
(i) Sylviculture of Shorea robusta. 4+4
(é} Define allellic and non-allellic interaction. Describe
' dominant epistasis and complementary factor.
| 4+4
(h) Describe different types of protein structure. What is
di and oligo saccharides with example. 5+3
‘ Group—C
. Answer any two questions of the following : 2x15

What is stele ? Explain with sketches different types
of steles found in plants. Define osmotic and turgor

pressure. , 2+10+] %H 51'
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(b} What is plant succession and sere ? Describe various
successional stages of xerosere. What is biome and
biosphere ?

1 1 l1,,1
I5+15+9+15+15

{c) Write the physiological role and deficiency symptoms
of Phosphorus, Calcium and Molybdenum in plants.

What do you mean by LDP and SDP cite example.

! 4+4+4+1 %-«-1 %

(d} What is aneuploidy ? Mention different type of
aneuploidy in plants? How does it differ from

euploidy ? What is the significance of crossing over ?
2+8+2+3

(¢) Distinguish between the following pairs :
{il Monohybrid and dihybrid cross.
(i) Heart-wood and Sap-wood.
(iif C, and C, Plants.
(iv) Ammonification and Nitrification.

(v} Active and Passive ion uptake.
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